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Question No : 41 of 52

Marks: 2 (Budgeted Time 4 Min) |z

Determine whether the set of vectors are orthogonal or not.
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Question No : 42 of 52

Marks: 2 (Budgeted Time 4 Min) |z

Is the following set of vectors is orthogonal with respect to the Euclidean inner product on j *7
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Question No : 43 of 52

Marks: 2 (Budgeted Time 4 Min) |z

1 4 5
famatnxk A=|4 5 6| and det(Af) = 6, then find the determinant of the matrx .
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Question No : 44 of 52

Marks: 2 (Budgeted Time 4 Min) |z

Let B=134,, &,, b3] and D 2{ d,, dg] be bases for vector spaces ¥ and W, respectively
T( bg) =-d,+ 6d, and T(b3) =4d, . Find amatrix M for Trelative to 5 and D).

. Let 7: V" — W be alinear transformation with the property that T( bl) =3d,-5d, , e
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Question No : 45 of 52 Marks: 3 (Budgeted Time 6 Min) |
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Deterrmine whether the vectors y = 2= it are orthogonal.
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Question No : 46 of 52

Marks: 3 (Budgeted Time 6 Min) |z

Let W = Span {x1, xa}, where x; = [ O]  a [ 5]. Construct an orthogonal basis {w1, va} for W.
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Question No : 47 of 52

Marks: 3 (Budgeted Time 6 Min) |z

If A= [; i] then find an invertible matrix P such that P~ AP = D{diagonal matrix)
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Question No : 48 of 52

Marks: 3 (Budgeted Time 6 Min) |z

1 =2 h
Let {)1 = [ 0], 152 = [ 1 ] and 5»‘ =|-3 |. For what value(s) of ‘%’ is ¥ inthe plane generated by 11)1 and {)2?
T 7 5
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Question No : 49 of 52

Marks: 5 (Budgeted Time 10 Min)

I

Compute the least square error associated with the least square solution x =

| | I
e

of the equation Ax =% where A=
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Question No : 50 of 52 Marks: 5 (Budgeted Time 10 Min)

I

Find the dominant Eigen pair (1.e. the Eigen value and Eigen vector) by using the Power Method for the following matriz. (Perform only 1 iteration )
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Question No : 51 of 52

Marks: 5 (Budgeted Time 10 Min) L

Find A%, given that & = POP™, where P and D are given below 4 = [

2 6
-4 12

=

3
2

1
1

o

6 0

) |

Answer ( Please click here to Add Answer )

VUANSWers.com

@ E SR Y e o #| & il L@

[riorma ] [avi B ooy | B== El ==

YNade by: YY/aqar Siddhu




Question No : 52 of 52 Marks: 5 (Budgeted Time 10 Min)

I

14 2 i DT - S :
Let A= [5 6] and £=[3] . Define T: R? > R? by T(x)=Ax. Determine if ¢ is in the range of the transformation 7.
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Marks: 2 (Budgeted Time 4 Min)  |=]
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Question No : 41 of 52

Determine whether the set of vectors are orthogonal or not.
s 1 47 ['3]
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Question No : 42 of 52

Is the following set of vectors is orthogonal with respect to the Euclidean inner product on j *7
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Question No : 43 of 52

Marks: 2 (Budgeted Time 4 Min)  |=]

1 4 5
famatrix A=|4 5 6| and det(Ar) = 6, then find the determinant of the matrix .
7 8 8
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Question No : 44 of 52
by, b, b ] and D {d d ] be bases for vector spaces ¥ and W, respectively . Let 7: ¥ — W be a linear transformation with the property that T(b ) 3d.-5d., ,

Let B = {
= Find a matriz M for T relative to 8 and D).

T(2,)=~d,+6d, and Tb,)=4d, .
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Question No : 45 of 52
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Deterrmine whether the vectors y = 2= it are orthogonal.
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Question No : 46 of 52 Marks: 3 (Budgeted Time 6 Min) =]
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Let W = Span {x1, xa}, where x; = [ O] L [ 5] . Construct an orthogonal basis {w1, va} for W.
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If A= [; i] then find an invertible matrix P such that P~ AP = D{diagonal matrix)
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h
-3 | . For what value(s) of ‘%’ is y in the plane generated by 11)1 and {)2 ?
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Question No : 49 of 52 Marks: 5 (Budgeted Time 10 Min)  |=

P T =21 [ =
ol -1
Compute the least square error associated with the least square solution x = El of the equation Ax =% where A= 3 b= 4
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Marks: 5 (Budgeted Time 10 Min)  |=

Question No : 50 of 52
Find the dominant Eigen pair (1.e. the Eigen value and Eigen vector) by using the Power Method for the following matriz. (Perform only 1 iteration ) -
S 5 4 |
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Question No : 51 of 52
2 6 ,P=31,D=6 0,P"= 1 -1
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1

Find A%, given that & = POP™, where P and D are given below 4 =
-4 12 Z 4 0 8
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Question No : 52 of 52
14 r_[2 5 B N | -
Let A= 5 6 and ¢ = . Define 7: R*—= R by T(x)=Ax. Determine if ¢ 1s i the range of the transformation 7.
1

Answer ( Please click here to Add Answer )

N E S| 5B e
Il‘-l-:sr‘m-al ;j |.-‘l.rial L.I | 12 ;] B 7 U | E=E=EE *

YNade by: Y/aqar Siddhe




MORE PAST PAPERS BY WAQAR SIDDHU

Get All Solutions.

W



